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Structure

1. The student scoured the forest to find leaves of different colors ............. a
work of art.

(A) that she created (B) with which to create

(C) created (D) she could create
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2. Originally an olden sport of the Middle East and the Mediterranean, .............
in the modern times.

(A) wrestling to evolve exponentially

(B) wrestling evolved exponentially

(C) for wrestling to evolve exponentially

(D) the exponential evolution of wrestling
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3. The hero of a movie is usually ............. in a story as the protagonist.
(A) what it is known (B) what is know
(C) what known (D) known as
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4. The first order of business for the chairman was to appoint Jim Boswell

................. of the national football team.
(A) was captain (B) as' was captain
(C) him captain (D) captain
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5. Tai chi drills generate a .................. breathing in the lungs without making
you go through any brisk movements.
(A) requiring of (B) requirement for
(C) requirement (D) requiring
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6. iiirrnnnnnns entirely impervious to the noises in the surrounding is both difficult
and expensive.

(A) Making a room (B) Aroom is

(C) Aroom is made (D) A room that
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7. Rice bags were originally made from fabrics ............. in other industries.
(A) which they were not usable (B) and usable where not
(C) were not usable (D) that were not usable
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8. The documents of the Iranian constitutional movement were made

accessible to the publicin 1352 ............ of the libraries act in the parliament.
(A) and the passing (B) with the passing
(C) passing (D) when passed
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9. Although once deemed an endangered species, ................. population of the
panda has significantly increased in the past few decades.
(A) itis the (B) there is the
(C) the (D) as the
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10. .......cc......._hold the fiber they consume in a specialized stomach which
prepares the food for further digestion.
(A) How cattle (B) That the cattle
(C) If the cattle (D) Cattle
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11. Usually the structure of an academic research ................. by the topic it is
dealing with.

(A) to determine (B) determined

(C) determines (D) will be determined
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12. The Mars is now proven to house a large amount of water, but .................
underground.

(A) is of it practically all (B) all is of practically

(C) practically all of itis (D) it is practically all of

W) J—'> Comnd U" AJL;A-O @Lhw 639.1&.13 U")9“°T U»W 9 eo)..i'.é 3)50 g0
of Aod Slos Lol 0,10 3929 O o5 Hlade g g 4o polo Jbo 55 45 Cawl s b :alos dos 5
el (0 5

13. ............. manufactured by Intel was Intel Core i9-9900K, one of the fastest
found in the market.

(A) The latest processor (B) it was the latest processor

(C) The latest processor and (D) Being the latest processor
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14. Designed to calculate the most complicated problems much faster than its
conventional counterparts, ............ in 1998.

(A) why the quantum computer appeared

(B) the quantum computer first appeared

(C) the appearing of the quantum computer

(D) so the quantum computer appeared
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15. Khorsand Ali Khan,i, ............ of the Iranian Football Federation, established

in 1325, had worked in an official capacity in the National Association for

Physical Training.

(A) he was the first president (B) which he was the first president

(C) the first president (D) was the first president
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16. Between 1340 and 1380, the total population of Iran ................. .
(A) The tripled (B) when tripled
(C) that tripled (D) tripled
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17. Gabriel Garcia Marquez’s well-known novel One Hundred Years of Solitude is

A
translated into 37 languages also has been adapted for the cinema.
B C D
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18. Iranian deserts are filled of wildlife, including birds of prey, jackals, and such

A B C
herbivorous quadrupeds as the Persian onagers.
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19. Historically, no artists have presented clearer or the more complete records

A B C
of the development of human culture than sculptors have.
D
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20. Several comet are discovered each year, but very few of them are bright
A B C

enough to be seen without the aid or magnification.
D
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21. Allame Dehkhoda regarded as one of the ablest column writers of his time.
A B C D
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22. Astrophysicists encounter difficult problems of theoretical and practical
A B

nature when they take up the task of description black holes and intergalactic
C D
dark matter.
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23. The hours that pass by every day and night are possible the most precious
A B

gifts we have been endowed within life.
C D
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24. In a village, interpersonal rituals are more collectively appreciated, and are

A B
therefore more likely being uniform than in an enormous community.
C D
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25. Much hypotheses have been proposed concerning how individuals come to
A B
believe in UFOs and how they pass this belief to others.
C D
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26. Ancient cities began as groups in nomads settling in a new place with the
A B
intention of refurbishing their supplies.
C D
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27. The arm of the sloth are predominantly adapted to hanging from boughs for
A B C D
incredibly extended periods of time.
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28. In the early 14th century, Iranian hearth still burned wood, which was

A B
low-cost and abundant in the time.
C D
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29. The Iranian jurist Mehrangiz Manouchehrian, was the first Iranian woman to

A B
have earn the PhD. degree in law.
C D
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30. Mathematician have come up with ways to determine the number of

A
probable parallel universes, but they did not agree on the exact number.
B C D
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Reading Comprehension

Passage 1

The hydrosphere describes the water on Earth held in rivers, lakes, oceans,
the ground, and air. Earth holds about 1377 million km? of water. This is an
amount that if spread over Earth’s 510 million km? surface area, it would be
about 2700m deep. Oceans hold 97 percent of this water. This is an average
depth of about 3700m spread over the 360 million km? surface area of oceans.
Another 1.9 percent is frozen in polar icecaps, glaciers, and permafrost. Only 1.1
percent of Earth’s water is liquid on land. Rivers, lakes, and wetlands contain
178,000 km? of water on the surface. Over 15 million km* of water is below
ground. Deep aquifers that comprise groundwater hold most of this water.

Water is an important part of Earth’s climate. The oceans store and transport
heat, redistributing the uneven geographic heating of Earth by the Sun. Carbon
storage in the oceans regulates atmospheric CO2 concentration. Water vapor is
the most important greenhouse gas both_in concentration and radiative
warming. Water vapor condenses to form clouds, which can precipitate rainfall
and which affect the planetary radiation budget by reflecting solar radiation and
absorbing and emitting longwave radiation. The latent heat released during
condensation provides considerable energy to fuel storms. The hydrologic cycle
among the atmosphere, ocean, and‘land regulates the amount of water vapor
in the air. Rates of precipitation and evaporation depend on temperature and
other climatic factors so that as climate changes, the amount of water vapor in
the atmosphere also changes.

The cryosphere is the frozen portion of Earth including glaciers, sea ice,
freshwater ice, snow and permafrost. Glaciers are large, thick masses of ice
amassed from snowfall. They can be geographically small such as mountain
glaciers or extensive ice sheets such as those that cover Greenland and
Antarctica. Glaciers are the largest store of freshwater.

The melting of glaciers with a warming climate contributes to sea level rise.
Conversely, sea level was lower during the last glacial maximum sum 21,000
years before present when glaciers covered a large portion of North America
and Eurasia. Glaciers also affect climate through the planetary energy balance.
Glaciers have a much larger reflected radiation than do oceans, soil, or
vegetation, which decreases the amount of solar radiation absorbed by the
surface and contributes to planetary cooling.

1. How deep would the water be if all the water in the world was spread over
Earth’s entire surface area?
(A) 360m (B) 1377m (C) 2700m (D) 3700m
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2. It is implied in paragraph 2 that a by-product of the condensation of water
vapor and the formation of clouds is:

(A) the storm (B) evaporation

(C) the CO2 (D) solar radiation
3. Permafrost is part of:

(A) a glacier (B) the cryosphere
(C) the atmosphere (D) the hydrosphere

4. According to paragraph 4, the sea level was lower 21,000 years ago because

(B) glaciers had not melted as much as today
(C) the temperature of the Earth was higher
(D) the climate was warmer on Earth

5. Which of the following is true about how solar radiation affects Earth?
(A) Soil and vegetation contribute to‘planetary cooling more that glaciers do.
(B) Glaciers absorb the most solar radiation, causing the planet to warm up.
(C) Oceans reflect solar radiation back onto the glaciers.

(D) Oceans absorb more solar radiation than glaciers do.

6. The word “comprise” in paragraph 1 is closest in meaning to:

(A) construct (B) conduct

(C) produce (D) constitute

7. The word “uneven” in paragraph 2 is closest in meaning to:

(A) excessive (B) temperate (C) inconsistent (D) intrusive
8. The word “latent” in paragraph 2 is closest in meaning to:

(A) dynamic (B) unrestricted (C) dormant (D) absent
9. The word “amassed” in paragraph 3 is closest in meaning to:

(A) blown (B) accumulated (C) abolished (D) faded
10. The word “portion” in paragraph 4 is closest in meaning to:

(A) chunk (B) significance

(C) assortment (D) forest
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Passage 2

The court of Shah Soleyman the Safavid was noted for its patronage of major
painters whose output exhibited an ability to move between traditional Persian
and European themes and styles of expression and, moreover, to mix the two.
The fine carpets produced over this period reveal a similar ability to greet the
foreign.

Carpet continued to be exported to Europe still utilizing the Polonaise style,
visible in a 1671 carpet produced for Abbas II’'s tomb in Qom. Indeed, the
carpets, cotton covers and clothes, including fur-like coats, robes and
waistcoats, visible in paintings completed in the 1660s and 1670s, show a taste
for Indian cloths, including cotton, silks and jewels both at court and outside
court circles, as well as fine glassware imported from Venice, also popular both
at and outside the court.

The continuing strength of non-court demand over the period, despite the
economic crises of the times, is further attested by the continued production of
blue and white ware by Kermani and Mashhadi potters, with styles of pottery
decoration continuing to exhibit interaction with other media, including
illuminated manuscripts, carpets, and bookbindings.

The domestic market also supported the production of lusterware, based in
Kashan or Esfahan, which incorporated distinctly novel shapes- such as ‘tulip
vases’- and designs. These items utilized a technique of manufacture featuring
the application of a coppery luster over cobalt blue, yellow, demands for such
items among those aware of, but unable to afford, the gold and silver vessels
produced for the court and other elites.

During Soleyman’s reign, Iranian ceramics remained in great demand abroad,
even after China resumed porcelain exports c. 1683. Indeed, Iranian potters’
development of the color grisaille (grey) and their dynamic use of patterns in
this period reflect continued attention to, and the ability to satisfy, the export
market.

Local metalworkers also worked from Mughal and Deccan products of India
to develop new items to satisfy domestic demand.

11. It can be inferred from the passage that, over this period of time in the
Safavid era, artists and artisans:

(A) were leaving the country

(B) were living good lives

(C) could hardly make a living

(D) could only make it if they had ties with the court
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12. The following are all true about the major artists of Shah Soleyman’s period
except:

(A) They were advised by the court not to work for ordinary people.

(B) They employed Persian styles interchangeably with, and alongside, European
styles.

(C) They made products for both the aristocracy and the commoner.

(D) They could work with a variety of different media.

13. It is implied in paragraph 3 that the ordinary people:
(A) used dishes made of media other than pottery.

(B) used pottery only in Kerman and Mashhad.

(C) spent their money on carpets instead of potter.

(D) usually used blue and white pottery.

14. According to paragraph 4, we know there was demand for lusterware
among people of lower class because:

(A) copper was used instead of gold and silver.

(B) because new shapes were employed in manufacture.

(C) blue, yellow, or turquoise colors were used.

(D) the lusterware were decorated with landscapes.

15. Which of the following is implied in the passage as a party that Iran was in
competition with in trade?

(A) Venice (B) Europe (C) China (D) India
16. The word “noted” in paragraph 1 is closest in meaning to:
(A) renowned (B) remembered
(C) accounted (D) provoked
17. The word “taste” in paragraph 2 is closest in meaning to:
(A) detestation (B) impression (C) confusion (D) preference
18. The word “attested” in paragraph 3 is closest in meaning to:
(A) suspected (B) confirmed (C) hated (D) overlooked
19. The word “resumed” in paragraph 5 is closest in meaning to:
(A) resided (B) rescued (C) recommenced (D) presumed
20. The word “satisfy” in paragraph 5 is closest in meaning to:
(A) dodge (B) meet
(C) enjoy (D) condemn
P99 (o GulS sl
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Passage 3

The social sciences developed in an intellectual climate that had been
profoundly affected by the natural sciences. The scientific revolution of the
seventeenth century changed the European conception of reality and
introduced new methods of investigation. Early social scientists, major and
minor, conceived of themselves as examining social phenomena in the spirit of
‘natural philosophy’, as exemplified in the fields of astronomy, physics, biology,
and chemistry. Until the nineteenth century, the natural sciences impacted on
social thought mainly through their general metaphysical and epistemological
canons rather than their substantive findings. Such things as Galileo’s model of
ballistic motion, or Newton’s investigation of the composition of light, or Boyle’s
law of gases, had no application to social phenomena.

The impact of biology on social thought was, and continues to be, inseparable
from the theory of organic evolution. From the standpoint of man’s conception
of himself and his relation to the cosmos, the development of the theory of
evolution in the nineteenth century was no less than a second scientific
revolution, but in terms of the philosophy of science it was a continuation or
extension of the first, applying to organic phenomena the same conception of
the world as governed by laws that are essentially ‘materialistic’ in nature and
thereby reducing still further the significance of spiritual, and indeed mental,
factors in the explanation of reality. This extension of materialism to the organic
world began with Harvey’s discovery of the circulation of the blood in 1628. The
human body was viewed as a mechanism; the heart was demoted from being
the seat of the ‘soul’ orthe repository of the ‘vital sprit’ to the mechanical role
of a pump. The advances of physiology along such lines was celebrated by the
French physician Julian Offray in his L’Homme Machine (Man a Machine, 1747)
which argued as the title indicated, that even the highest of all organisms is a
machine, and nothing but a machine. But it was the theory of evolution, which
explained in materialistic terms, not only what man is, but how he came to be
what he is, that emphatically introduced biological science into modern social
thought.

21. What does the passage mainly discuss?

(A) The significance of scientific method in the history of social sciences.
(B) How social sciences were affected by biological sciences.

(C) How physics was affected by natural sciences.

(D) The effect of psychological investigation on philosophy of science.
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22. Galileo’s model of ballistic motioniis .................... .

(A) the inspiration for Boyle’s law of gases.

(B) a social phenomenon.

(C) one of the substantive findings of the natural sciences.
(D) a metaphysical explanation for events in the real world.

23. The 2™ scientific revolution mentioned in paragraph 2 was ..................... .
(A) Harvey’s discovery of the circulation of the blood.

(B) Julian Offray’s book, L’Homme Machine.

(C) Newton’s investigation of the composition of light.

(D) Galileo’s model of ballistic motion.

24, After Harvey's discovery of the circulation of the blood in 1628, the heart
was no longer the seat of the ‘soul’, but .................... .

(A) a symbol for the brain.

(B) a mere mechanical piece.

(C) the repository of the ‘vital sprit’.

(D) the spiritual guide of the body.

25. It can be inferred from paragraph 2 that“Julian Offray’s book (Man a
Machine) was most essentially inspired by:

(A) the spiritual beliefs in the 17th century.

(B) the social thought.

(C) the development of the theory of organic evolution.

(D) the discovery of the circulation of the blood.

26. The expression “conceived of” in paragraph 1 could best be replaced by:

(A) criticized (B) desired

(C) perceived (D) got disappointed with

27. The expression “in the spirit of” in paragraph 1 could best be replaced by:
(A) inignorance to (B) in accordance with

(C) in anticipation of (D) in contradiction to

28. The word “standpoint” in paragraph 2 is closest in meaning to:
(A) axis (B) perspective
(C)location (D) scheme

29. The word “nature” in paragraph 2 is closest in meaning to:
(A) essence (B) contrast
(C) scenery (D) logic

30. The word “demoted” in paragraph 2 is closest in meaning to:
(A) indicated (B) elevated
(C) compiled (D) downgraded

br
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Passage 4

The spread of railroads and steamships brought long-distance travel within
the budgets of millions of Europeans and East Asians, allowing them to
immigrate to the Americas. What made the vast extension-of railroads and
shipping possible was steel. Steel is a form of iron containing just enough carbon
to make it hard yet flexible. Until the late nineteenth century, it had long been
too rare and costly for anything but knife, blades, watch springs, and other fine
items.

In the 1860s William Kelly, owner of an iron manufacturing company in
Kentucky, discovered that blowing air through molten pig iron turned it into
steel. Improving on this process, the English man Henry Bessemer built
converters, large containers that processed several tons of molten steel at a
time at one-tenth the previous cost. Soon thereafter, another process, the
Siemens-Martin open-hearth method, made steel even more economically,
using scrap iron and low-grade coal. A third method, the Gilchrist-Thomas
process introduced in 1875, made it possible to use phosphoric iron ores that
could not be processed by either the Bessemer or the Siemens-Martin process.
As a result, world steel output rose from 500,000 tons in 1870 to 60,000,000
tons by 1914. Steel became inexpensive enough for the manufacture of ships,
rails, and bridges, and even disposable “tin” cans.

Railroads, steamships, and steel manufacturing were developed by inventors
and ‘engineers with little or no scientific training. Before the mid-nineteenth
century, connections between science and technology were rare and random.
Benjamin Franklin’s investigation of natural electricity led him to invent the
lightning rod; the research of the French chemist Claude Louis Berthollet
resulted in improved methods of bleaching cloth; and the Italian scientist
Alessandro Volta’s experience led him to invent the electric battery. More often,
however, it was scientists who sought explanations for the phenomena that
technological advances revealed, for example, steam engines had been around
for a century before the French scientist Sadi Carnot formulated the laws of
thermodynamics to explain how such engines transformed heat into motion. In
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the mid-nineteenth century, the situation began to change with the advances in
electricity and chemistry.

31. How did mass production of steel result in more immigration to the
Americas?

(A) It made it possible to construct more bridges around the country.

(B) It made it possible to make more weapons, causing more wars and more
refuges.

(C) It provided people with more affordable means of long-distance
transportation.

(D) It brought more wealth to people, letting them spend more.

32. The Bessemer process for the manufacture of steel was.an improvement
on the process used by:

(A) Siemens and Martin (B) William Kelly

(C) Europeans and East Asians (D) Gilchrist and Thomas

33. The Siemens-Martin process made steel manufacture more affordable by:
(A) making it possible to use scrap iron and low-grade coal.

(B) making it possible to use phosphoric iron-ores.

(C) building converters.

(D) blowing air through molten pig iron:

34. According to paragraph 3, the electric battery was invented by:
(A) Benjamin Franklin

(B) Sadi Carnot

(C) Claude Louis Berthollet

(D) Alessandro Volta

35. According to paragraph 3, in the mid-nineteenth century, inventors and
engineers began to:

(A) follow advances'in science.

(B) provide-scientists with explanations of phenomena.

(C) inventrailroads and steamships.

(D) focus more on engineering than on science.

36.The expression “at a time” in paragraph 2 is closest in meaning to:
(A) gradually (B) simultaneously
(C) hastily (D) immediately

37. The word “disposable” in paragraph 2 is closest in meaning to:
(A) crumpled (B) essential
(C) throwaway (D) fake

P
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38. he word “bleaching” in paragraph 3 is closest in meaning to:

(A) whitening (B) wringing

(C) weaving (D) folding

39. The word “revealed” in paragraph 3 is closest in meaning to:
(A) supported (B) missed

(C) unfastened (D) uncovered

40. The word “formulated” in paragraph 3 is closest in meaning to:
(A) consulted (B) developed

(C) understood (D) distorted
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